Math 20 Unit#3 54;2.21024;6.1t06.4;7.1t07.3
To the Test—be sure to bring:

- (1) your personally-prepared 8 %“by 11’ study guide for this test
(2) your simple, non-graphing calculator and
(3) your pencils
(4) your BluGold ID

1. Develop the equations you need to solve this problem, list them, and solve the problem
One serving of Coke and two servings of Mountain Dew contain 31.3 tsp of sugar while one serving of

Mountain Dew and three servings of Coke contain 38.9 tsp of sugar. How much sugar is in one serving of
each drink?
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2. How many milliliters of a 4% acid solution and how many milliliters of a 10% acid solution must be mixed
together to obtain 54 milliliters of a 6% solution?
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ClJ invested $4000 in two accounts, some of it at 5% simple interest and the rest of it at 3% simple
interest. How much did she invest in each account if she earned $144 in interest after one year?
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3. Asmall plane can fly 400 miles in the same amount of time a jet can fly 1000 miles. If the jet's speed is
300 mph faster than the small plane, find the speed of the jet and the speed of the small plane.
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5. Simplify. Assume all variables represent nonzero real numbers.
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6. Simplify.
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7. Simplify. Assume all variables represent nonzero real numbers.
The answer should contain only positive exponents.
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8. Simplify. Assume all variables represent nonzero real numbers.
The answer should not contain negative exponents.
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9. Simplify. Assume all variables represent nonzero real numbers.
The answer should not contain negative exponents.
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10. Perform the indicated operations:
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11. Find the product.
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14. What is the Greatest Common Factor (GCF) of 15x° and 10x 2
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Find the Greatest Common Factor.
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15. Factor by grouping.
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17. Factor completely by grouping.
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18. Factor completely.
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19. Factor completely,
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